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EDUCATION ae

PAPER-II Y 1

Note : This paper contains FIFTY (50) multiple-choice/Assertion and
Reasoning/Matching questions, each question carrying two (2) marks.
Attempt ALL the questions.

e 2 2 Ul v (40) agdsRYs sl B, 835 s & () Y2
8. adL Al s 8.

R 1. ‘Authenticity’ is f:he principle of : 1 ‘M[Qﬁdd.l’ 58 Rl Reid

P * (A) Realism | | &9 ?

(B) Naturalism (A) AlRddale
! (C) Existentialism B) u%[&qm
| |

(D) Idealism (€) wRdae

2. ‘Constant change’ is the cardinal (D) 2uedale

2. ‘Udd wRad’ A 56
RarRwd yaed Rgid 8 ?

principle of :
(A) Naturalism
(B) Realism (A) Ri[&qw

| (C) Existentialism (B) <tcldele

(D) Pragmatism (©) 2nRdaaie

3. Theory of j t/knowledge of
eory of judgement/knowledge o (D) a8l

I ' idealism is : . . .
| 3. vlsdasul Melujaun-i Rgid sul
(A} Correspondence theory of 37 '
knowledge

(A Al v3udl Rugla
(B) Utility theory of knowledge N N )
(B) au--l Guuilial Rigid
- (C) Coherence  theory  of

(©) Wil Yogal Rgid
knowledge

D) Al M3y -
' (D) None of the above D) 4l

Edu-1I s [P.T.0.]
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Ontology is the theory of P
(A) Knowledge

(B) Values

(C) Reality

(D) Logic |

Axiology is -ﬁlie theory of :
(A) Knowledge

(ﬁ) Values

(C) Reality

(D) Logic

Aims of education are drawn
from :

(A) Met#physics

(B) Ontology -

(C) Epistemology

(D) Axiology

‘Emile’ is the work of :

(A) John Locke

(B) Aristotle

(©) Rousseau

(D) Montessori

Edu-11

dca i wedl Rgia 9 ?
(A) U
(B) Y&l

(©) Ardlasdl

(D) b

Coyey {lnia weil Rgla 8 7

(A) ain
(B) 3edl

(©) ARafsd
(D) d

Bast-r Al il diadisl

g ¢ ?
(A) AHM[Q=a

(B) det Hlmiul

©) finia

(D) e Ml
‘Kfla’ sl gla & ?
(A) Rs dls

B Akded

© 3R

(D) Mol




10.

11.

- ‘Upanayan’ was the Samskar of :

Shri Aurobindo’s concept of 8.

education is :

(A) Basic education

(B) Integral education
(C) Liberationist education
(D) Austere education
‘Ashtang Marg’ was the basis of 9
the curriculum of :

(A) Jain education

(B) Vedic education

(C) Buddhist education
(.D) Sikh education

(A) Buddhist education
(B) Vedic education
(C) Jain education

(D) Sikh education

11.

‘Pabajja’ was the admission

ceremony of :

(A) Jain education

(B) Buddhist education
(C). Vedic education

(D) Islamic education

Edu-I1 5
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10.

sl w2l Raasd dseusu ol
8 ?

A qludl e

@) ol [Rael

©€) Ylaatdl (A

(D) ¥4l (e

whetol Wl syl e
(A) ¥ Qaa
@ dRs haw
© g R

@ v Rag

GuruA Wil A1 69 ?
A) g Rag

- @) dks fuaw

©) ¥ R

(D) v (haw

‘Yoo’ suL (awdl udaicua
e ?

(A) ¥ Raw

(B) ¢lg Raw.

© ARs (Raw
D) Sl RDast

[P.T.0.]



13.

14.

15.

‘Project method’ is advocated bj:
(A) Marzxism |

(B) Realism

(C) Pragmatism

(D) Idealism

‘Man making’ is the aim of

education of :

(A) Shri Aurobindo

(B) Mahatma Gandhi -

(C) Rabindranath Tagore

(D) Swami Vivekananda

The gap between material and
non-material culture is explained
through the concept of :

(A) Cultural conflict

(B) Cultural lag

(C) Cultural mosaic

(D) None of the above

Role of education vis-a-vis culture
is :

(A) Preservation

(B) Transmission

(C) Transformation

(D) All of the above

Edu-1I

12.

13.

14.

15.

W se ugll sl si 52
8 ?

(A) M

(B) AURddAlE

(C) AdsIRAE

(D) suesdale
Wy gSdR’ S Yada Raad

Ay B ?
@ sl wde

(B) sl Al

(@ Wllrgrlizr 2902

@ 2l RasHe

olifus 21 Birotifas gl a2
2l 56 ASEULL gL AHAUA
8 ?

(A uizglas Al

(B) wiglas fadeq

(©) ARgls cudlaadl

(D) Aanisl A3 Al

drgfi Aeolul Raadl offis
»2d ¢

(A anagl

(B) MAUR

(C) 3uid?

(D) GuL ol



16.

17.

18,

Social change means :

(A) Change in the life style of an

individual
(B) Change

facilities available in the

in the physical

~ society

(C) Change in the habits of an
individual

(D) Change in the

institutions and the

social

interrelations observed

_ therein

Education is political in the sense

that it :

(A) Propagates ideas of ruling
party

(B) Propagates ideas of

~ opposition party

(C) Propagates Constitutional
ideas |

(D) Propagates market ideals

Which part of Indian Constitution

acts as normative framework to

education aims ?

(A) Part IV of the Constitution
(Directive Principles)

(B) Part III of the Constitution
(Fundamental Rights)

(C) Preamble

(D) None of the above |

Edu.-1I
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18.

Aulrs wRadq vled : |

(A) 4l wan Adni wWRad

(B) AUIFUHL Guaey  oiifus
yRwMl wRad

(©) ARl 2uedini wRad+

(D) AURss A A, ddu
sidayeiaini Aar vag
uRad+

Ran 2 i Ay S % a :

(A) A5 val QAR WAUR
53 8

@) Qe wau Rl xR
538

(© ciwrelly RARiAL uWR 53
3]

(D) oAt R Hu2 53 &

(e Sgaliru 2uedyas sia

daly sudly siaratt sdl eua

s 2 8 ;

@A) sl oudt v (oleals

 Rgidd)

(B) siarm-il eud 1M1 (3ueid
2R5130)

©) wHm

(D) ALHil A3y Al

(P.T.0.]




19.

21.

22.

Providing equal opportunities of
schooling means :
(A) establishing common school

gystem

(B) establishing separate schools |

for disadvantaged
(C) encouraging public-privai;e
partnership in schooling
(D) None of the above

Aculturation means  the

socialization of the child into :
(A) Other cﬁltures

{B) One’s own culture

(C) Multi-culture

(D) Hybrid culture

Concept of ‘cultural lag’ was

developed by :

{A) F. Ogburn

(B) E. B. Tyler

(C) Max Weber

(D) Henry Morgan

The term ‘social stratification’

refers to :

{A) unstructured social

inequality
(B) unstructured social. equality
(C) structured social inequality
(D) structured social equality

Edu-iI

19.

21.

22,

Ay Raal un ast yil wsdl

ved :

(A) UMY OL-4a Nl

(B) dlddl 2 wnad wol
audl

©) way [Baani Md -
il euRfletin Uil

@) il M3 A

AAAnidl  sumsdl sa

- aruBrlsaadl 2 drgRsae

8 ?

(A) ARl

(B) Widt-l Al

(C) oug-irgla

(D) As-AglA

Aarglas Qdor’ Al dseu-n sS4
fﬁ&%llcﬂ :

(A) A&, 2o

B S.ol. adar

(©) sy qoR

(D) &3 Ml

Arrs asd’ Aed

(A) HLAvULYSd AUES 2R
(B) MAMIYsA WS Al
(C) Waviog AH¥s UM
(D) Avots S ARl

.



25.

Democracy means :

(A) way of living and ruling

(B) way of thinking and ruling

(C) way of living and thinking

(D) way of ruling, living and
thinking _

Article 28 of Indian Constitution

is about :

(A) Mincrity education

(B) Women education

(C) Language education

(D) Tribal education

Article 350 of Indian Constitution

refers to :

(A) Right to minority education

(B) Right to education in mother

tongué
(C) Right to learn Hindi
(D) Right to equal opportunity of

education

According to generally accepted-

classification of 1Q, the superiors

are those whose IQ range is :
(A) 110-119

(B) 120-129

(C) 130-139

(D) 140 and above

Edu-11

23.

25.

26.

disudl e 5

(A) ad U WAl Ad

B) Rk At wyndl d

() @A A QR Aa

(D) WA, Dot v [au-l
d '

etcdlu ofeaa-l sax ¢ wel

[Qd & ?

@) agudl Riaw

B) ¥ [

(©) oy [Raw

(D) 2uleala (aa

eidly siaredl san 3vo el
@d & ?

A agudl Raasi AR5

(B) ugeuruni Raal AR5

(© Rl wuEsR

D) [Da@-dl M dasq sBEsR

ofgaisl yeuudd Wlgd
s g DA-unil) sw
Qi AL Gegre deuy ?
4) 110-119
(B) 120-129
(C) 130-139
(D) 140 »11 g

[P.T.0.]



27. The pseudo maturity stage of life
is :
(A) Infancy
(B) Childhood
(C) Adolescent
(D) Adulthood

28. The
psychologist in education during
the first quarter of 20th century

outstanding functional

was :
(A) Thorndike
(B) William James
(C) Terman
(D) Alexander Brian
29. The father of measurement of
intelligence is :
(A) Spearman
(B) Guilford
(C) Alfred Binet
(D)} Thurstone

30. Who has contributed mainly to

connectionism ?
(A) Hull

.~ (B) Skinner
(C) Pavlov

(D) Thorndike

Edu-II

217.

30.

10

gl 2Rl wR usadl deisst
029 :

&) Anaa
(B) wneutaral
(©) et
(D) Yocllazal

cflap(l uglril MM AN AU
AGy dalis wifasudl Red :

(A) al-isiss

B [y ¥y

(©) 24

(D) RaAsHis B
AR (R e @ ?
(a) Ay

(B) Mass

(©) 2ueds oflq

(D) Y~

Yoy AsIAAeUl si et B ?
(A) 4

(B) ¥l

(€) wadlq

(D) HI1SISS



31. Which of the following is a correct g3, eyunt Saet v w2 AA-xidl

_ - - .
order of learning language skﬂls_. sl $H WAL B ?
(A) listening-speaking-reading;
(A) SAAR—5AA—UA A,

writing :
(B) listening-reading-writing- (B) AAA-UAt—AMri—58rL

speaking (C) AAR—-AVA—ULA—5AA
gpeaking

32, DArunidl g €la A sy
(D) listening-speaking-writing-

7
reading
32. Learning takes place when there a) ¥3Rwud
is : | (B) Gaa-
(A) meed (€) AU
(B) drive .
(D) BURUSa AAY
(C) motive

33. A-udil swAi idye g2l
(D) all the above three

: : ?

33. Which of the following had insight e © !
 learning ? | (A) wadiadl a3l
(A) Pavlov’s dog | (B) ?:51'1.23 3(1(12

(B) Skinner's pi |
ners pigeon (©) Hsda-il AN A

(C) Kohler’s Ape . )
(D) qi2uy [y
(D) Watson’s Baby

Edu-1I ' 11 [P.T.0.]




34, Under what conditions will goal
setting increase motivation and
performance ?

(A) When the @goals are

challenging and specifie, yet
~ attainable
(B) When individuals are
commited to goals
©) Wheﬁ individuals receive

feedback on their progress
(D) Al _of the above

35. Which of the following is not

related with the concept of

-

personality ?
(A) behaviour
(B) thoughts
(C) emotions

(D) none of the above

36. Who first outlined the theory of
‘anxiety to understand the
personality ?

(A) Froebel

(B) Freud

(C) Gutman

(D) Guilford
Edu.-II

34.

36,

12

asy Mafe 34 wRRalfui
e wA siful qlg s

&8 ?

(A) ZAUI Al S5 YLS ]
AP adl Re 24 da
8id |

B) ¥l Alkadl asil Ul

uog sin
© Ul AlBaid au-d Wil
w2 wRdine wag ein
(D) GuRisd =8y
AArunidl § aldacal Aseu-
Al Asidg <l ?
A) ad-i
® R
(©) atoflai
(D) Al A3y adl

HBqcad Anwal Rl Rgid
LT I MEATAR

(A) §9a
(B) 518
(C) 2R
(D) Mess




317.

39.

Learning is
“association” is the cardinal
principle of :

(A) Constructivism

(B) Cognitivism

(C) Behaviourism

(D) None of the above 38,

External validity of a research is:
(A) Validity of research findings
(B) Validity of findings to derive

generalization

'(C)‘ Validity‘of a research tool
(D) Validity of research process  39.

Cluster sampling is one in which :

(A) Individual is selected from
each sub-group

(B) One half of the group is

selected

(C) All individuals in identified
group are selected

(D) Whole population is selected
Standard deviation of 95, 90, 85,
80, 75, 70, 65, 60, 55 is :

(A) 166.67

(B) 16.667

(C) 1.29

40.

(D) 1291

Edu-II ' 13

the resﬁlt‘ of 37.

WU, ASIA’T o WReu B A
sivl yaoyd Rugia 8 ?

- (A) RAUWdle

(B) [™anale
(©) ad-ae
D) Aamigl A3y Adl

Agiandl sia qaddar Ned :
(A) Abal dreldfl yalda

B) A5 sl dl@itl
el '

(C) ddlar Gusadl yadar

(@) Awiar wEu-dl zada

Ayl wHedlldl pxwL a

¥eq : |

(A) Hds et qanidfl auldadl
wisol aw &

(B) a-l usdl qAvyl we Wy
3]

(C) wde s3dal oqudl afl
ABAiAL Y- WY D

(D) aHN R waiesll ay
&8

95, 90, 85, 80, 75, 70, 65, 60, 55
4w [Qudn deg aw ?
(A) 166.67

(B) 16.667

(C) 129
(D) 1291
[P.T.O.]



41,

42,

Mahesh ranked 27th in a class of
367. His percentile rank is :
(A) 39

(B) 3.9

C) 93

(D) 9.3

“There will be no significant
the

difference in mean

~ achievement of high and low

emotional students.” This

hypothesis is known as :

(A) null

(B) directional

(C) interrogative

(D) none of the above .

Which of the following is the

primary source of data ?

(A) personal records

(B) official records

(C) oral testimonies of traditions
and customs

(D) all of the above

Which of the following is a

measure of relative position ?

(A) standard deviation

{B) percentile rank

(C) arithmetic mean

(D) quartile deviation

Which of the following is the

lowest level of significance ?

(A) 0.01

(B) 0.20

(C) 0.05

(D) 0.001

Edu-I1
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41.

42,

45.

367 il alMi Hausl $4 27Hl &
di d-it uaud s4is Jeal wu ?
(A) 39 |

(B) 3.9

() 93

(D) 93

‘Gay A (A3 ac‘teqaﬂet
Renl> ] Rl a2 uels

Castad Adl e’ it sy usiasl

Geseudl & 7

(A) Y

(B) Ruyas

(C) UAYAS

(D) AQAiA] A%y ]

AAunidl sul wRdi wmafhs

wid ® ?

(A) dd g

B) adlad g

(©) WIMU A Rard-u Whis
it

(D) Gusd ARY

AA-uuid 54 garuets Rulag auy

® ?

(A) W [@aaqd

B) Alaud suis

© 2uldlas Al

D) wed [Qaan

AAennill Al A2 2eelyasdid

WM Y 7

(A) 0.01

(B) 0.20

(C) 0.05

(D) 0.001



47.

(D)

In case of three independent
variables the
interaction effects will be :

(A) 3

(B) 4

(C) &

(D) 6

Which research design has the
weakest internal validity ?

(A) Single group post-test only
(B) Single group pre-test post-
test '
Pre-test post-test control
group

Post-test only control group

«©)

Which of the following is non-
random sampling ?

(A) Cluster

(B) Systematic

(C) Convenient

(D) Stratified

number of

The degrees of freedom for a two-

dimensional chi-square
determined by :

(A) c-1

B) r1

(C) (1) (c-)

are

(D) r-c-1

Standard deviation of a sample is
12 and the sample size is 100, The
standard error of mean is :
(a) 121 | |

- (B) 121

(C) 0.121
(D) 12.1

Edu~II
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49.

AR W Adil - R
vidfbardl Avan sl ed ?
A 3

(B) 4

© 5

(D) 6

AAriidl 5§ AL WP
AidRs qaddl Fdn sia @ 7
(A) As U Gu sl

(B) 3s o ydlu sALd

© yalaz sauidl REBia o
(D Gu: s RABid o
Ml Ay wiedldl Bin-
eleos Aa 55 8 7

(A) ML

(B) waldau:

(C) sixadl

(D) Wgel |
RuRRwella 51§ adl we aud>u
dvyr flA-umidl 5§ Ad 58l
qd ?

(A) ¢-1

(B) r1

) r-1) {c-1)

D) r-e-1

g e Rydd 12 8 wA
Ayl vl 100 9. dl AR
weed sedl iy 7

(A) 121

(B) 1.21

(©) 0.121

(D) 12.1

[P.T.0.)



ROUGH WORK
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